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(b) With the voltage source tu

Vi, -

urrent sour

ce turned off, find the voltage drop across R

(c) Find the power dissipated by Rj.
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2. Thévenin/Norton Equivalence l/
(a) Find the Thévenin resistance R;; of the circuit shown below, with respect to its terminals A and B.
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(b) Now a load resistor, R;, = R, is co d terminals A and B as shown in the circuit below. Find
he power dissipated in the load r terms of given variables.
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Find a symbolic expression for V,,, as a fi

unction of Vj.
Hint: Redraw the left part of the circuit using with its Thévenin eq

Vp-Vg = Vp = Vag =Vin

3. A Versatile Opamp Circuit

For each subpart, determine the voltage at O.

(a) Configuration 1
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(b) Configuration 2:
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(c) Configuration 3:
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